Configuration single anchor points SAP steel

RN EIN Single anchorage point

Characteristics
Lt Single anchorage point @ 16mm made of Inox A2 for the modular
Aq assembly with a base plate on steel beams
‘ Installed with screws M10
Article-Nr. [E-Number mm mm mm T mm ° el
x R
h
% I I I P | O ! \E
Support SP16 HP
310.100.002 InoxA2 100 16 4 1
310.200.002 InoxA2 200 16 4 1
310.300.002 InoxA2 300 16 4 1
310.400.002 InoxA2 400 16 4 1
310.500.002 InoxA2 500 16 4 1
=== BaseplatP B
310.001.001 | | | InoxA2] 150 | 150 | 29 | | 4] 1
ﬁ‘ Single anchorage point EAP S
310.000.008 | | | noxA2] 70| 50 | 30| | | 4] 25

ﬂ Screw with head hexagonal 951.04.352

Article-Nr. |E-Number % % i—ﬁ
v B

951.04.352 InoxA4 M10x30 100

ﬂ Screw with head hexagonal 951.04.334

Article-Nr. |E-Number M 2 % fﬁ

951.04.334 InoxA4 M10x35 100

ﬂ Screw with head hexagonal 951.04.374

Article-Nr. |E-Number % %t fﬁ

951.04.374 InoxA4 M10x25 100

Arthur Flury AG | CH-4543 Deitingen/Switzerland | T: +41 (0)32 613 33 66 | F: +41 (0)32 613 33 68 | www.aflury.ch | info@aflury.ch
Subject to technical modifications | Print: 17th of May 2024



P

Screw with head hexagonal 951.04.319

Article-Nr. |E-Number 7 lgﬁ 7 =Y
hE
951.04.319 InoxA4 M10x40 100
(.  Washers 953.04.028
Article-Nr. |E-Number mm mm ¥ mm @ — &~
D h = 7 —
953.04.028 20 2 10.5 Inox A2 500
950.04.359
Article-Nr. [E-Number T %( A N
\E
950.04.359 InoxA2 M10 100
ﬂ 953.04.073 null 953.04.070
Article-Nr. |E-N mm g 4 4
rticle-Nr umber 7 i I c —.
953.04.070 InoxA4 6 M10 8% 100
ﬂ 953.04.073 null 953.04.073
Article-Nr. |E-Number mm P T
/ i I 2 .‘
| e B
953.04.073 InoxA4 6 M10 14% 25

Arthur Flury AG | CH-4543 Deitingen/Switzerland | T: +41 (0)32 613 33 66 | F: +41 (0)32 613 33 68 | www.aflury.ch | info@aflury.ch
Subject to technical modifications | Print: 17th of May 2024



http://www.tcpdf.org

